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107-全國高中教師聯招 詳解整理 

 

1. 單選 

解： 

(1) 向量 )1,1,2( GE ， )1,2,1( GF  

(2) 法向量 )3,1,1( n


   平面 EFG： 13  zyx  

(3) 
222

311

|1000|
),(




EFGDd

11

1
  ### 

A B

C
D(0,0,0)

E(2,1,0)

F(1,0,0)

G(0,2,1)

 

 

2. 單選 

解： 

(1)








7loglog

3loglog

48

48

ab

ba
  















7log
3

1
log

2

1

3log
2

1
log

3

1

22

22

ba

ba

  

 6log,18log
22

 ba   12loglog
22

 ba   40962
12

ab  ### 

 

3. 單選 

解： 

(1) 0
cb

ba
  0

2
 bac   2

bac   (b 是偶數) 

b 2 (b2 =4) 4 (b2 =16) 6 (b2 =36) 

(ac) (15)(16), (23)~(26), 

(32)~(36), (42)~(46), 

(51)~(56), (61)~(66) 

(36), (45)(46),  

(54)~(56), (63)~(66) 

無 

(2) 35.0
636

38



p  ### 
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4. 單選 

解： 

(*) 2 ba  

(1) 2312  ba
3

2
3

2

1
2  ba   

(2) 22222
)

3

2
3

2

1
2())3()2)(()

3

2
()

2

1
((  baba  

 2
)2312()32)(

6

7
(  baba  

 2
)2312(

6

95
 ba   

6

570

6

95
)2312(  ba   ### 

 

5. 單選 

解： 

3R

2B

1Y

甲 乙 丙

RR BB RY 3!=6

3!=6

3
!2

!3


RR RB BY

RB RB RY

  ### 

 

6. 單選 

解： 

(*) 











4

205

10

22222
edcba

edcba

   











22222

4

205

10

cedba

cedba

 

 

(2) 222222222
)()1111)(( edbaedba   

 222222222
)()1111)(( edbaedba   

 22
)10(4)

4

205
( cc    22

21004205 ccc    

 0214
2

 cc   73  c  ### 
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7. 單選 

解： 

(1) 160cos||||
0
 BABA


 

(2) yxByAxBAVU 52)()( 


 

(*) 








022

86

yx

yx
   

       

A(12, -6)

B(16, -8)

D(14, -8)

 

(3) 6)( Af ， 18)( Bf ， 14)( Cf ， 12)( Df   ### 

 

 

8. 單選 

解： 

(*)

A

B

3

13

25

θ

 

(1) R
C

c

B

b

A

a
2

sinsinsin
   5

sin

3

sin

13
25

sin


CBA

a
   












5
3sin

13
5sin

C

B

 

(2) ))(cos(cos CBA   )sinsincos(cos)cos( CBCBCB   

65

63
)

5

3

13

5

5

4

13

12
( 


  ### 

 

 

 

 



4 

 

9. 複選題 

解： 

 (借) ### 

 

10. 複選題 

解： 

(1)  
1

0

3
|| dxkxx   

k

k

dxkxxdxkxx
0

1
33

||||   
k

k

dxkxxdxkxx
0

1
33

)()(  

4

1

2

1

2

1 2
 kk

8

1
)

2

1
(

2

1 2
 k  ### 

0
1kk

 

 

11. 複選題 

解： 

(*) 令 dnaa
n

)1(    dna

nn
afb

)1(
2)(


  

(A) a
b 2

1
 ， dada

b 222
2


 ， dda

bb 22
2

2

3


 ，… G.P.  (  ) 

(B) 0d   12 
d

r   
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(C) 409622 2

1
)1(1

)1(





n
dna

n
b   12

2

1
)1(1  n   23n   (  ) 

(D) 




n

i

i
a

1

22    22
2

]
2

1
)1(11[



 nn

  8n  

     




8

1

2
9

22
3

1
2...222

i

i
b )12(30   ### 

 

 

12. 複選題 

解：  

(*) 










12,

8,50

yy

xx

M 


 

(A) 20
4

3
 xy   5.572050

4

3
M    (  ) 

(B) (i) 2

40

1

2

2

8

)(










n

x

i

xi

x



   25604064)(

40

1

2


i

xi
x   # 

  (ii) baxy    bx
S

S
y

xx

xy

   
4

3

)(

))((

40

1

2

40

1
















i

xi

i

yixi

xx

xy

x

yx

S

S





 

 19202560
4

3
))((

40

1


i

yixi
yx    # 

(iii) 
n

yx

r
i y

xi

x

xi








40

1

))((








5.0
40

128
1920




   (  ) 

(D) 12,8 
yx

   (  ) 
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1. 填充 

解： 

(1) )171cos39)(sin27sin363(sin
02020202

  

)9cos3)9cos1)((27sin327(cos
02020202

  

)9cos41)(27sin41(
0202

  

)
2

18cos1
41)(

2

54cos1
41(

00





  

)118cos2)(154cos2(
00
  

0

0

0

0

0

0

18sin

18sin
)118cos2(

54sin

54sin
)154cos2(   

)
18sin

18sin18cos18sin2
)(

54sin

54sin54cos54sin2
(

0

000

0

000


  

)
18sin

18sin36sin
)(

54sin

54sin108sin
(

0

00

0

00


  

)
18sin

18sin36sin
)(

54sin

72sin54sin
(

0

00

0

00


  

)
18sin

9cos27sin2
)(

54sin

9sin63cos2
(

0

00

0

00


 )
18sin

9cos9sin2
)(

54sin

27sin63cos2
(

0

00

0

00


  

0

00

54sin

27sin27sin2


00

00

27cos27sin2

27sin27sin2


00
333tan27tan    ### 

 

2. 填充 

解： 

(*)
nnn

aaa 


121
1

 

(1) 令 1
nn

aA   1
11


 nn
aA  

(2) 原式  12
1


 nnn

AAA   2

1
)1( 

 nn
AA   1

1


 nn
AA  

(3) 1
12
 AA  

1
23
 AA  

… … 

1
1


nn
AA  

________________________ 

 nnAA
n

 1
1

  2
nA

n
   2

1 na
n

   899130
2

30
a  ### 
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3. 填充 

解：   

(1) 
t

tf
2

1
)(     

x
xf

2

1
)(    1)(2 xxf   01)(2 xxf  

(2) 令 )2019)...(3)(2)(1(1)(2  xxxxAxxf   
!2019

1
A  

 )2019)...(3)(2)(1(
!2019

1
1)(2  xxxxxxf  

 (3) )20192020)...(32020)(22020)(12020(
!2019

1
1)2020(20202  f  

 
2020

1
)2020( f   ### 

 

4. 填充 

解： 

(1) ...
7654

1

6543

1

5432

1









 

...)
654

1

543

1
(

3

1
)

543

1

432

1
(

3

1














72

1
   ### 

 

5. 填充 

解： 

(*) 












21

01
A ， 













11

00
B ， 











10

01
I   BB 

2  

(1)   BIA    88
)( BIA 

88

8

28

2

8

1

88

0
... BCBCBCIC   

BIBCCCI 255)...(
8

8

8

2

8

1
  ### 
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6. 填充 

解：   

(*) 










6)(

15)(
2

xxg

xxxf
     











6)(

15)(
2

aag

aaaf
    

(1) 4)3(56
22
 aaaPQ  ### 

 a
 

7. 填充 

解： 

(1) 




100

1

2
]1)(log

2

1
[

n

n  11937248112031   ### 

 

n  1,2,3 4～15 16～63 64～100 

1)(log
2

1

2
n  -1 0 1 2 

 

8. 填充 

解： 

(1) 6
22

 nmmnmm   (平方) 

 362
2222

 nmmnmmnmmnmm  

 3622  nm   18 nm  

 

n 12 22 32 42 52 62 72 82 92 

m 17 16 15 14 13 12 11 10 9 

 

(2) 285
6

)192)(19(9
9...321

2222



   ### 
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9. 填充 

解： 

(*) 


































78

30

80

1

40

1

21

n

n

n

n

nnn

a

a

aaa

 

(1) 令 








ba

aa

2

1

  abaaa 
123

  aaaa 
234

  

 baaa 
345

  abaaa 
456

  aaaa 
567

  

 baaa 
678

 (循環了) 且 0...
621
 aaa  

 

(2) 

























78

302

80

1

40

1

baa

baa

n

n

n

n

  36,42  ba   

 722
321

123

1




babbaaaaa

n

n
 ### 

 

1. 計算 

解： 

(1) 0424
23

 xxx   0)22)(2(
2

 xxx   31,2  xx  

(2) 0
111








  xxx

  0
))()((

))(())(())((










xxx

xxxxxx
 

 0)])(())(())()[((   xxxxxxxf   

 0)283)(424(
223

 xxxxx  

 0)283)(424(
223

 xxxxx   
3

104
,31,2


 xx  

2 3131

3

104 

3

104 

 

(3) 
3

104
31


 x  or 

3

104
2


 x  or 31 x  ### 

 



10 

 

 

 

2. 計算 

解： 

(1) 2|1||1|  iziz   2)1()1()1()1(
2222
 yxyx  

 2222
)1()1(2)1()1(  yxyx  

 222222
)1()1(4)1()1(4)1()1(  yxyxyx  

 22
)1()1()1(  yxyx   2222

)1()1(2221  yxyxxyyx  

 12 xy   
2

1
xy  ### 

(1*)

)
2

1
,

2

1
(

)
2

1
,

2

1
( 

 
2

1
xy  ### 

 

 

 

3. 計算 

解： 

(1) nn

n

kn

k

nnnn

n
C

n
C

n
C

n
C

n
C

n
)

1
(...)

1
(...)

1
()

1
()

1
()

1
1(

2

2

1

1

0

0
   

k

n

k nknk

n
)

1
(

)!(!

!

0 
 



 k

n

k nk

knnn
)

1
(

!

)1)...(1(

0


 



 

)
1

...
1

(
!

1

0 n

kn

n

n

n

n

k

n

k





 



 

 

(2) n

n n
)

1
1(lim 



 )
1

...
1

(
!

1
lim

0 n

kn

n

n

n

n

k

n

k
n





 




)1...11(
!

1

0

 


 kk !

1

0 kk






  ### 

 


